Best model for HELP J004027.144-443553.980 at z = 0.418 y2=1.47
OPTx2=1.42 IRy2=2.2 threshold (OPT IR)=11.34 [um]

Flux [m])y]

Stellar attenuated
S Stellar unattenuated
102 : —— Dust emission
. m —— AGN emission
= Model spectrum
1 : ® Model fluxes
10 : [ Observed fluxes
10°
107! o AN
(r"'
"’}:ﬂ?\""“'"rr‘v““
1072 :
X
-3
Ha—'o 1 E 1
= ] ==f=(Obs-Mod)/Obs
S ]
el 1 L
7 ]
] o o —_ e S e e e e b o] ———————————————
o ]
) ]
2 ]
5 ]
o -1 T —————  CIGAL
()
(o'

10° 10! 107 103 10 A
Observed wavelength [um]



